0.1 VECToR VALUE FUNCTIONS. ?(t) < (@), 3@),2E)y te

DEF. A vector volue function is o rule +het ossociates For any £ iu
e dovow D o vx\/v\ﬁue ve chor 2@5 vt rumcae R .
/N
"’ D"‘“L"Lf) B&‘quh Ve,c/I-OV' Fomctons

onnch ?oVC»W\Q:J'V’{Q. equ(OMS

¢,
R M

ABERR (CHNCO) W) s teD

b

xQ:.B - %%) G""‘P\“ c}&&\r\\ou)\
G(k)=g€) < l:p in«vw\.w
2 ©) =h(® I

Fe. Helix E@) = < ot suwm b ’




[f dhe dowmoiw "D s vuo'\' %‘\VQ\A we “Joke Haa lc«v:aey\' Sefl’ Fov \)b\/wc/\/\ QCAoL\ Q,ow"oomc\n‘,’
S c}t?\vxa&,

Ex. Find +h dowmoin O‘F '—2@'):<(V‘t) 2'_)+amt>

£ )
D, \V\'].'. s a\:f'\v\,u\ ow L >0 D:”Dlﬂbz(\b} .
D, . s JeFamd Tor ¢ X t] :>
e {t)o \{tg\ \J E=T 4 kT o keNZ%

Da : Lon t e Jefind For £ x T + lc’T\" fovrm N
2

'EY, Find o\vcg\'ov ?u\nc;(io\n -\—\/\N\’ ch,scv'\\ﬂeb ‘\'\'\Q '\v\'\'QVse,cA'\.o\o lbe,‘&wcev\

R T R

xE)= &
5@5 = xz(t) = '&z

@)= \/4 XD -y -\ 4-2-2

S 2 ——
R -t eem et )y Fo 4-t-2'y0



We nse lf\«o, Sawn € a\%&wm we  used Fow Ve ctons

= )
Lb‘\' 1‘?ch G- l)e, Vecvov ’Fu\ngL(b\nS omJ @) tbe o~ VCsu\a\. Fuv\c‘l’\‘em,

> =

FR)R) = F@&) F@)

( )<3 ( " Al e opz\fo\\tfo\ns ave AQF\.V\LO{ oh ‘L}’)e
fv\"’kvsz.o‘\';o\ﬁ of thu domans oF Hu
o - - ]D ‘l’\'ov\ 4'\/\@\-[' cown ‘L\/\.Q o] &4\‘0 .
(F3~ (2) (J:) - —"f&;) G?({’) uhe S pOS PQV %
(Fx 2) ()= Fe)x &

(Fr& ) @) - ) 1 0@)

Ex. FOY<<E b sty GR)=< 4, 1,50 . Fing
(F+2) ) (R)E) (R.2)e) (Fx8) (&)

2> | x
(F+A4)4) =<t +£‘t+‘; |- sint +52D.AD, for t20

t a 2
¢ b —sint D = G &b sint)D fralit (cw o)

(F- V6= £+ (] + Csinbls =

£ 4 1-Ssint for ££0

T 1ok
£t -sink| =1 (se-(-—smt\‘z\-—g(s@—(_ smm?«(fc“(‘;\ —tLH]
£+ 5

= <€£+Eit£c~‘—s€—esmt )e-e“> 0i1Ds = t =0



Limk : [im Fk) = Lw EACIE A g@\> < liw ¥(£-) lowa Q(Jc) v FL @»\}
+>t, L>ts talk (- bo ('))\0

T Lwecd & 4 vedeoy JFu\\/\c\t“\oy\ Qf\f’;\’,% i F owd o\/\\‘j & e Limit of QDLCL cowath'{' ey

Lx . Tand Ml;mo<e<u+t) _I_;chg_tJ 371 4£>_<-ﬁ f ﬁ‘> <,/ >

it (2] = £, = el 0™y = 10 ]
-0

lim 1 —(esH]
£=0 £ - t‘l

I

(-] _.0 undeterminate

Oa 6 Form

’L’hospﬂ’ul’s Rale s Hhic answar IS wreng

more Work is Needed

liow— sint _ 0. |on cost
t=0 at 0

i
£t >0 & o]

- - — ‘uvn /It L‘t ___—-:O
(AT t=0 A (A1)




A\tsg_\:)\/‘m o¥ {‘\/\J\ \\\N\\'\'s

THE OREM >
) lim (FRECW®) ) - hm F &) £ lim &1
L> o tots >4,

DEITINES ?(t)) = Jimit 4t Jimit Fel

it 4 — £, t 26
-2 - = —
iy Lo T CE)= Somit F@ - it Jee)
tst b=t €=
Wy lm T X GO = it Fobl % fmid A
L=t t =t t =t

;?\moF %LLL) [ ]L\ur the dot producz‘/

JKZ (F_((-, ﬂ((—})_ ﬂ/m’l [/f: fﬂz ]Dﬁj){f = //sz //rm?,-f-/,(mf ],,m Q-{-/,,m]”/, 7

tat, {4, tato

= <€-I{':'Zo /m’L /;rmf > <£IZ)ZOCJ,, //’YY! fﬂoﬁ'1>

‘Afo {—*{"o

— fiom F('f/ ° /iﬂ’ﬂj({')

t =4 { =6




Sho w ‘Amzi% Lo ﬁ)f)x ﬁt): '(\m :FD(%) X ((\m E:(Jr) uz/\u/v

L >\ £ E>1
S 2 > + 4
FleYs (£, -, L5 CR)={ €, 0,2 )
f=<n,1> fu= el 01 p= e 0 7
= N _é_ (/l _/4 /),4
Frd=le il e ff[[/-H'(-Z—ff)J—J"({-(Z—ef)—faethQ(O—U—f)'?t)
et 0 -3¢
f/—i’mlz FxAd = <O)—(—7—€—€)) O> = <O,'I+)e,0>

AHf’lnaﬁVp/Y’ g could use 1his Sﬁ'afecw:

[ o | :64(0)’]‘((‘1-6)—6)4%(0):<0,7+R€,O>




2

_Dm;_ AVCQA’D\/ ¥\)~V\(}V'\OV\ + s QOV\"\'{V\U\OV\% 0:{' 'l'.'o (F &o (S iy ‘\'\l’\l dowa 11

oF T oawd Lew ?@'—>= ;‘P(]mx
Lo+,

A Ve YOV S;U\V\(/X.\o\/\ S c,o\A*.\V\\AOV\s o}( 'Eo F o»\qc) ohlb (‘F euq/\n prOMM+ S COM*:MMOm& Oxt 'to,

Yol 4
=
Ex. :l'_.\v‘&) W\AJL\ML N ¥'v\/\(,lrlo\n X - %\V\‘l' (\ tB) l\/\ ‘L> = QD\A‘\'\V\V\OV\S

“set- mmiqus”
finct) D, : for t I

Dt DA D ADs = § >0\ €212
/s eC(ui(/a/w‘/' o

Int D+ £50 %f >0 with ﬁil%




